

II ()

11

-4

7

6-7

5-6

4

« + »

2-3

1

0

1

180°

7

- ABCD.

ABC.

ABD, BCD

CAD

ABE, BCF CAG.

EAB, BAC, CAG

180°

A.

A

EG.

B

EF

C

FG.

GE, EF, FG.

EA=AG,

EFG.

A, B, C

AD

, EB=BF

FC=CG.

, AB, CB, CA -

EFG.

EFG

4

ABE,

BCF, CAG

ABC,

ABD, BCD, CAD ABC

ABCD.

2

[0; 1]

: a, b, c, d.

x,

[0; 1],

(1/|x - a|) + (1/|x - b|) + (1/|x - c|) + (1/|x - d|) < 40.

c

7

a, b, c, d

[0; 1]

0,2.

x

;

x

0,1,

a, b, c, d -

0,1.

|x - a|, |x - b|, |x - c|, |x - d|

0,1,

0,1.

10,

10.

40,

3

a
2012.

$$: 4^x - 4^{-x} = 2 \cos ax$$

a
7

$$4^x + 4^{-x} = 2 \cos ax + 4 ?$$

: 4024

:

$$4^x + 4^{-x} = 2 \cos ax + 4 \Leftrightarrow$$

$$4^x - 2 + 4^{-x} = 2(1 + \cos ax) \Leftrightarrow$$

$$(2^x - 2^{-x})^2 = 4 \cos^2 \frac{ax}{2} \Leftrightarrow$$

$$\left[\begin{array}{l} 4^{x/2} - 4^{-x/2} = 2 \cos \frac{ax}{2} \\ 4^{x/2} - 4^{-x/2} = -2 \cos \frac{ax}{2} \end{array} \right. \Leftrightarrow$$

$$\left[\begin{array}{l} 4^{x/2} - 4^{-x/2} = 2 \cos \frac{ax}{2} \\ 4^{-x/2} - 4^{x/2} = 2 \cos \frac{ax}{2} \end{array} \right.$$

$$x = 2y \quad x = -2z$$

2012

$$x = x_0,$$

$$4^{x_0/2} - 4^{-x_0/2} = 0$$

$$\cos \frac{ax_0}{2} = 0$$

$$2 \cdot 2012 = 4024$$

4

7

m.

m;

s.

n.

B

n;

B

t.

t

s,

A),

s (

t (

B).

5

$$n \quad *x^2 + *x + * = 0 \quad (n - \quad).$$

$$3n$$

$$n$$

?

7

$$: (n + 1)/2.$$

$$(n + 1)/2$$

$$1 \quad x.$$

$$a \quad x^2$$

$$1/a.$$

$$(D = 1 - 4a \cdot (1/a) = -3)$$

$$(n + 1)/2$$

$$(n - 1)/2$$

$$1 \quad x^2.$$

$$(n - 1)/2$$

-1,

c,

x b,

$$b > 2\sqrt{|c|}$$